FbiaE/MBEANEIRA

Zr0O2/S

EHET R Size (mm) EHET Size (mm)
Part Number M DK K ) Part Number DK K

58040S1040070006 M4x6 825 248 255  58040S1080125012 M8x12 16.58 4.96 5.08
58040S1040070008 M4x8 825 248 255  58040S1080125016 M8x16 16.58 4.96 5.08
58040S1040070010  M4x10 825 248 255  58040S1080125020 M8x20 16.58 4.96 5.08
58040S1040070012  M4x12 825 248 255  58040S1080125025 M8x25 16.58 4.96 5.08
58040S1040070016  M4x16 825 248 255  58040S1080125030 M8x30 16.58 4.96 5.08
58040S1040070020 M4x20 825 248 255  58040S1080125035 M8x35 16.58 4.96 5.08
58040S1040070025  M4x25 825 248 255  58040S1080125040 M8x40 16.58 4.96 5.08
58040S1040070030  M4x30 825 248 255  58040S1080125045 M8x45 16.58 4.96 5.08
58040S1040070035  M4x35 825 248 255  58040S1080125050 M8x50 16.58 4.96 5.08
58040S1050080006 M5x6 103 31 3.05  58040S1080125060 M8x60 16.58 4.96 5.08
58040S1050080008 M5x8 103 31 3.05  58040S1080125065 M8x65 16.58 4.96 5.08
58040S1050080010  M5x10 103 3.1 3.05  58040S51080125070 M8x70 16.58 4.96 5.08
58040S1050080012  M5x12 103 3.1 3.05  58040S1080125080 M8x80 16.58 4.96 5.08
58040S1050080016  M5x16 103 3.1 3.05  58040S1080125090 M8x90 16.58 4.96 5.08
58040S1050080020  M5x20 103 3.1 3.05  58040S1080125100 M8x100 16.58 4.96 5.08
58040S1050080025  M5x25 103 31 3.05  58040S1100150020 M10x20 20.81 6.2 6.08
58040S1050080030  M5x30 103 31 3.05  58040S1100150025 M10x25 20.81 6.2 6.08
58040S1050080035  M5x35 103 3.1 3.05  58040SI100150030 M10x30 20.81 6.2 6.08
58040S1060100006 Mex6 124 372 406  58040S1100150040 M10x40 20.81 6.2 6.08
58040S1060100008 M6x8 124 372 406  58040S1100150045 M10x45 20.81 6.2 6.08
58040S1060100010  M6x10 124 3.72 406  58040SI100150050 M10x50 20.81 6.2 6.08
58040S1060100012  M6x12 124 3.72 406  58040S1100150055 M10x55 20.81 6.2 6.08
58040S1060100016  M6x16 124 3.72 406  58040S1100150060 M10x60 20.81 6.2 6.08
58040S1060100020  M6x20 124 3.72 406  58040SI100150065 M10x65 20.81 6.2 6.08
58040S1060100025  M6x25 124 3.72 406  58040S1100150070 M10x70 20.81 6.2 6.08
58040S1060100030  M6x30 124 3.72 406  58040S1100150100 M10x100 20.81 6.2 6.08
58040S1060100035  M6x35 124 372 4.06

58040S1060100040  M6x40 124 372 4.06

58040S1060100045  M6x45 124 372 4.06

58040S1060100050  M6x50 124 372 4.06

58040S1060100060  M6x60 124 3.72 4.06

58040S1060100065  M6x65 124 3.72 4.06

58040S1080125010  M8x10 166 496 5.08




	Sheet3

